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Scheme of marking

| Question no

Scheme of marking

Q3 a) Correct state identification 3 marks
T Correct Lransitions 2 mark
Q3h Adentification of actor and | mark
system boundary, correct
! notations used for all details
Correct relationships 3 marks
identified )
Correct state identification 2 marks
Correct transitions | mark
Correct entry, do and exit 2 marks
L actions
(4 by Fork join description 3 marks
|_ Message type nofations 3 marks
(35 a) | Appropriate description of 1 mark for each step
o steps IR TR
(5 b} Each step stated 3 marks
_ Proper sequence of each step | 2 marks
f a) Ouestions correct 2 marks
I_ Addentification L
Appropriste importance ofall | 3 marks
|_ questions narrated correctly _
| 6 ) Each step stated, description | mark

is not expected, steps should
be relevant




